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SECTION A

Circle the correct answer

1. Six thousand two hundred and nine in numerals is

A. 629 C. 6219
B. 6 209 D. 6 290

2. The place value of the digit 6 in 8 642

A. ones
B. tens
C. hundreds
D. thousands

3. Which of the following numbers is the smallest?
A. 5303 C. 5330
B. 5033 D. 5300

4. 2877 +948 + 36 =

A. 3736 C.3843
B. 3791 D. 3861

5. 6150-3575-590 =
A. 1865

B. 1985
C.2045
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D.2185

6. The difference between 6 030 and 4 478 is

A. 1552 C. 1632
B. 1586 D.1712

/. 9+49+9+9+9+9+9=
A.9 x5 C.9x8

B. 6x9 D.7x9

8. Which diagram is one over four shaded?
) v © AN
"B °®
E\‘:\

9. lisread as
2
A. one two
B. one over two

C. one quarter
D. three quarters

10. Which of the following fractions is three quarterse

A. C.

1
4
B. D. 1

10 marks
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SECTIO

NB

A) Write the values.

1)

2)

RM10 || RM 10 RM S
RM 10 RM 5 RM 5
RM 5 RM 5 RM 5
RM S RM 2 RM 2
RM 2 RM 2 RM 2
RM 1 RM 1 RM 1

(2 marks)

B) Write the fractions for the shaded area.

3)

4)

.
B
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C) Write the fractions in numerals.

5)

6)

Three over four

One half

D) Shade the diagram below to show 3

an
NP

4

E) Write the digit value of the underlined digit.

8) 5923

9) 8564

10) 7140

(2 marks)

(2 marks)

(Tmark)

(3 marks)

F) Add and subtract the following by using the vertical form.

1)

5201 +14= |12

2154 +312 =

13)

6193 +347 =
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14) 7 342 -675 = 15) 5149-21-103 =

(10 marks)
G) Multiply and divide the following.
16) 32 17) 215 18) 137 x5 =
x 3 x 4
19) 24+ 6= 20) 246 = 3 =
(10 marks)

H) Solve the following problemes.

o : : Page 5
and 3 380 chairs in April. How many chairs

did the factory produce in the two
monthse




21

22) | A fruiterer buys 2 250 oranges. He sells
1 475 oranges. How many oranges are
left?

Number sentence:

23
) There are 5 groups of pupils. Each group

has 8 pupils. How many pupils are there
altogethere

Number sentence:

l) Write the number in numerals.

24)

Th H T O
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J) Draw the beads.

25)

(1T mark)

Th

3617

(Tmark)

K) Write “more than” or “less than” in the boxes below.

26) 4 610is

27) 7 625 is

Najilbcopynight

4160

7 652

(2 marks)
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